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Part-I. 
GENERAL INTELLIGENCE AND 

REASONING 

¼lkekU; cqf)eRrk ,ao rdZ”kfDr½ 

1.  On the basis of two figures of dice, you have to find what 

number will be on the opposite face of number 5? 

 iklk ds nks fLFkfr;ksa ds vk/kkj ij] vkidks Kkr djuk gS fd 

la[;k 5 ds foijhr dkSu&lk la[;k vk,xk\ 

 
 (A) 2  (B) 3  
 (C) 4  (D) 6 
Directions (3–10) : In each of the following questions, select the 

related letter/word/ figure/ number from the given alternatives. 

fuEu iz'uksa esa ls izR;sd iz'u esa fn, fodYiksa esa ls lEcfU/kr v{kj@ 

'kCn@vkÑfr@ la[;k dks pqfu,A 

2.  MAD : JXA : : RUN : ? 

 (A) ORK   (B) OSQ  

 (C) PRJ   (C) UXQ 
3.  Botany : Plants : : Entomology : ? 
 ouLifr foKku % ikS/ksa %% dhV foKku %\ 

 (A) Snakes/lk¡i  (B) Insects/dhM+s 

 (C) Birds/i{kh  (D) Germs/dhVk.kq 

4.  Love : Hate : : Friend : ? 

 izse % ?k`.kk %% fe= % \ 

 (A) Faithful/oQknkj (B) Elephant/gkFkh 

 (C) Enemy/'k=q (D) God/Hkxoku 

5.  729 : ? : : 125 : 25 

 (A) 146   (B) 90   
 (C) 81   (D) 384 

Directions (6-7) : Find the odd word/letter/ number from 

the given alternatives. 

fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k dks pqfu,A 

6.  (A) Tangent/Li'kZ js[kk  (B) Sector/lsDVj   

 (C) Radius/f=T;k  (D) Diagonal/fod.kZ 

7.  (A) 43 : 6  (B) 28 : 4  

 (C) 50 : 7  (D) 36 : 5 
8.  If O = 16, FOR = 42, then what is the value of FRONT? 

 ;fn O = 16, FOR = 42, rks FRONT dk eku D;k gksxk\ 

 (A) 61  (B) 65  

 (C) 73  (D) 78 
9. Find out the alternative figure which contains question 

figure as its part? 
 ml mÙkj&vkd̀fr dks pqfu, ftlesa iz'u&vkd̀fr fufgr gSA 

 Question figure: 

 iz'u vkÑfr 

 

 Answer figures: 

 mÙkj vkÑfr;k¡ 

 

                (a)          (b)       (c)     (d)  

10. The priest told the devotee, "The temple bell is rung at 
regular intervals of 45 min. The last bell was rung five 

minutes ago. The next bell is due to be rung at 7:45 am." 

At what time did the priest give this information to the 
devotee? 

 iqtkjh us HkDr dks crk;k] ^eafnj dh ?kaVh 45 feuV ds fu;fer 

varjky ij ctrh gSA fiNyh ?kaVh 5 feuV igys cth FkhA 

vxyh ?kaVh 7:45 ij ctuh gSA iqtkjh us HkDr dks fdl le; 

tkudkjh nh Fkh*\ 

 (A) 7 : 40 am  (B) 7 : 05 am  

 (C) 7 : 00 am  (D) 6 : 55 am 
11. Which one set of letters when sequentially placed at the 

gaps in the given letter series shall complete it? 
 nh xbZ v{kj&Jà[kyk ds [kkyh LFkkuksa ij Øe ls j[kus ij 

fuEufyf[kr esa ls dkSu&lk v{kj&lsV mls iwjk djsxk\ 

 aa _ aaa _ aaaa _ aaaa _ b 

 (A) baaa   (B) bbab   
 (C) aabb   (D) bbba 
12. In the given series find the number which is wrong. 
 nh xbZ Jà[kyk esa xyr la[;k Kkr dhft,A 

 1, 3, 10, 21, 64, 129, 356, 777 

 (A) 21   (B) 129   
 (C) 10   (D) 356 
13. Radha moves a distance of 7 m towards South-East, then 

she moves towards West and travels a distance of 14 m. 
From here, she moves a distance of 7 m towards North- 

West and finally she moves a distance of 4 m towards 
East and stood at the point. How far is she standing from 

the starting point? 

 jk/kk nf{k.k&iwoZ fn'kk esa 7 eh- dh nwjh r; djrh gS] fQj oks 

if'pe fn'kk esa 14 eh- dh nwjh r; djrh gSA ;gk¡ ls] og 

mÙkj&if'pe fn'kk esa 7 eh- dh nwjh r; djrh gS vkSj varr% 

og iwoZ fn'kk esa 4 eh- dh nwjh r; djds [kM+h gks xbZA 

izkjafHkd fcanq ls og fdruh nwjh ij [kM+h gS\  

 (A) 3 m  (B) 4 m  
 (C) 10 m  (D) 11 m 

14.  Ravi is 7 ranks ahead of Sumit in a class of 39. If Sumit's 

rank is seventeenth from the last, what is Ravi's rank from 
the start? 

 39 dh d{kk esa jfo] lqfer ls 7 vkxs gSA ;fn lqfer dk jSad 

ihNs ls 17oka gS rks 'kq: ls jfo dh jSad D;k gS\ 

 (A) 14th  (B) 15th  

 (C) 16th  (D) 17th 
15.  If the letters of the word ADISHANKARACHARYA were 

written in the reverse order, which will be the third letter 
to the right of the seventh letter from the left? 

 'kCn ADISHANKARACHARYA dks fjolZ Øe esa fy[kus ij 

ck,a ls 7osa v{kj ds nk,a ls rhljk v{kj D;k gksxk\  

 (A) R  (B) A  

 (C) K  (D) N 
16. If '+' = '÷', '×' = '+', '–' = '×' and '÷' = '–', then which of 

the following equation is correct? 

;fn '+' = '÷', '×' = '+', '–' = '×', '÷' = '–', rks buesa 
ls dkSu&lk lehdj.k lgh gS\ 

 (A) 36 × 6 + 7 ÷ 2 = 20 

 (B) 36 + 6 – 3 × 7 ÷ 3 = 24 
 (C) 36 ÷ 6 + 3 × 5 – 3 = 45 

 (D) 36 – 6 + 3 × 5 ÷ 3 = 74 
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Directions (17-18): In the given series, some 
letter/number/digit is missing. Choose the appropriate 

option. 

funsZ'k (17-18): fn, x, vuqØe esa dqN v{kj@la[;k@vad yqIr 

gSA mfpr fodYi dk p;u djsaA 

17.  R, U, X, A, D, ? 
 (A) F   (B) G   

 (C) H   (D) I 
18.  70, 71, 76, ?, 81, 86, 70, 91 

 (A) 70   (B) 71   
 (C) 80   (D) 96 

19.  Statement: 

 All Aeroplanes are trains. lHkh ok;q;kusa Vªsu gSaA 

 Some trains are chairs. dqN Vªsusa dqflZ;k¡ gSA 

 Conclusions: 

 I. Some Aeroplanes are chairs./dqN ok;q;kusa dqflZ;k¡ gSA 

 II. Some chairs are Aeroplanes./dqN dqflZ;k¡ ok;q;kusa gSA 

 III. Some chairs are trains./dqN dqflZ;k¡ Vªsusa gSA 

 IV. Some trains are Aeroplanes/dqN Vªsusa ok;q;kusa gSA 

 (A) None follows/dksbZ vuqlj.k ugh djrk gS 

 (B) I and II follows/I rFkk II vuqlj.k djrs gSa 

 (C) II and III follows/II rFkk III vuqlj.k djrs gSa 

 (D) III and IV follows/III rFkk IV vuqlj.k djrs gSa 

20. Identify the figure that completes the pattern of the 
question figure? 

 Question Figure  

 
 Answer figure  

 
                     (a)        (b)         (c)         (d)  
21. Which one of the following diagrams represents the 

correct relationship among Window, Room and Wall? 
 fuEufyf[kr esa ls dkSu&lh vkd`fr f[kM+dh] dejk rFkk nhokj 

ds chp lEcU/k dks n'kkZrh gS\ 

 

                     (a)        (b)         (c)          (d) 
22.  Which number is in all the geometrical figures? 

 dkSu&lh la[;k lHkh T;kferh; vkd̀fr esa gS\ 

 

 (A) 3  (B) 4  

 (C) 5  (D) 8 

23.  A man is facing South. He turns 135° in the anti-clockwise 
direction and then 180° in the clockwise direction. Which 

direction is he facing now? 

 ,d vkneh dk eq[k nf{k.k esa gSA og ?kM+h dh foijhr fn'kk esa 

135° eqM+rk gS] fQj ?kM+h dh fn'kk esa 180° eqM+rk gSA vc 

mldk eq[k fdl fn'kk esa gS\ 

 (A) North-East/mÙkj&iwoZ  

 (B) North-West/mÙkj&if'pe 

 (C) South-East/nf{k.k&iwoZ  

 (D) South-West/nf{k.k&if'pe 

24. If LIRIL = 13, PEARS = 13, LUX = 5 and RIN = 5. Then 
DOVE = ? 

 ;fn LIRIL = 13, PEARS = 13, LUX = 5 vkSj RIN = 5 rks 
DOVE = ? 

 (A) 7  (B) 9  

 (C) 8  (D) 10 
25. A word is represented by only one set of numbers as given 

in any one of the alternatives. The sets of numbers given 

in the alternatives are represented by two classes of 
letters as in two matrices given below. The columns and 

rows of Matrix-I are numbered from 0 to 4 and that of 
Matrix- II are numbered from 5 to 9. A letter from these 

matrices can be represented first by its row and next by 
its column. E.g., ‘A’ can be represented by 02, 11, 20 etc., 

and ‘W’ can be represented by 58, 79, 97 etc. Similarly, 

you have to identify the set for the word ‘POLE’. 
 ,d 'kCn dsoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk fd 

fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn, x, 

la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd uhps 

fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr dh 

la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu 

vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk 

la[;kvksa }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy,] ‘A’ dks 

02, 11, 20 vkfn }kjk n'kkZ;k tk ldrk gS rFkk ‘W’ dks 58, 

79, 97 vkfn }kjk n'kkZ;k tk ldrk gSA fn;s x, 'kCn ‘POLE’ 
ds fy, lewg dks igpkuuk gSA 

             Matrix-I                    Matrix –II 

 
 (A) 75, 66, 67, 10   (B) 69, 88, 86, 23  
 (C) 87, 59, 56, 23   (D) 69, 65, 99, 11 

Part-II. 
QUANTITATIVE APTITUDE 

¼Xkf.krh; vfHk;ksX;rk½ 

26. 18 women can complete a piece of work in 12 days and 
12 men can complete the same work in 9 days. In how 

many days will 8 men and 8 women complete that 

work? 
 18 efgyk,a ,d dke dks 12 fnu es a iwjk dj ldrh gSS vkjS 

12 iq:"k mlh dke dks 9 fnu es a iwjk dj ldrs gaAS 8 iq:"k 

vkjS 8 efgyk,a ml dke dks fdrus fnu es a iwjk djsxs\ 

(a) 9 days/ (b) 6 days/

(c) 12 days/   (d) 8 days/
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27. A man sells a table at 12% loss and a book at 19% 

profit and he earns a profit of Rs. 160. If he sells the 

table at 12% profit and book at 16% loss, then he 

bears a loss of ` 40. Find the price of the book. 
 ,d vkneh us ,d est dks 12% gkfu ij rFkk ,d fdrkc dks 

19% ykHk ij cspk vkSj dqy ykxr ij 160 dk ykHk dek;kA 

;fn mlus est dks 12% ykHk ij rFkk fdrkc dks 16% gkfu 

ij cspk gksrk rks mls nksuksa dh dqy ykxr ij  40 dk uqdlku 

gksrk gSA ,d fdrkc dk ewY; Kkr djsaA 

 (a) Rs.4000 (b) Rs. 3000 (c) Rs. 2000 (d) Rs. 3500 

28.  Gaurav spends 40% of the amount he received from 

his father on hostel expenses, 20% on books and 
stationery and 50% of the remaining on transport. He 

saves Rs. 450 which is half the remaining amount after 

spending on hostel expenses, books etc. and transport. 
How much money did he get from his father? 

 xkSjo vius firk ls izkIr jkf'k esa ls 40% Nk=kkokl ij] 20% 

fdrkcksa vkSj LVs'kujh ij vkSj 'ks"k dk 50% ifjogu ij [kpZ 

djrk gSA Nk=kkokl] fdrkc vkfn vkSj ifjogu ij [kpZ djus 

ds ckn Rs. 450 tks 'ks"k dk vk/k gS mls og cpkrk gSA mls 

vius firk ls fdrus Rs. feys Fks\ 

 (A) Rs. 3000  (B) Rs. 6000  

 (C) Rs. 4500  (D) Can't determined

29.  A cistern has two pipes. One can fill it with water in 8 
hours and the second can empty it in 5 hours. In how 

many hours will the cistern be emptied if both the 
pipes are opened together, when ¾ of the cistern is 

already full of water? 
 ,d Vadh esa nks ikbi yxs gq, gSaA ,d ikbi bls 8 ?k.Vs esa 

ikuh ls Hkj ldrk gS vkSj nwljk bls 5 ?k.Vs esa [kkyh dj 

ldrk gSA ;fn Vadh dk 3@4 Hkkx ikuh ls Hkjk gqvk gks] vkSj 

nksuksa ikbi ,d lkFk [kksy fn, tk,] rks Vadh fdrus le; esa 

[kkyh gks tk,xh\ 

 (a) 
1

13
3

 hour  (b) 10 hour  

 (c)6 hour  (d) 
1

3
3

 hours  

30. In a election between two candidates, the winning 

candidate got 80% of the total valid votes. If out of 
total 1,80,000 votes, 10% were declared invalid. Find 

the total number of valid votes got by the second 
candidate. 

 nks mEehnokjksa ds eè; gksus okys fdlh pquko esa igys mEehnokj 

dks dqy oS/k erksa ds 80% er feysA ;fn dqy 1,80,000 erksa esa 

10% er voS/k ?kksf"kr fd, x, gksa] rks nwljs mEehnokj ds i{k 

esa oS/k erksa dh la[;k Kkr djsaA 

 (A) 32,400  (B) 32,600  
 (C) 32,455  (D) None of these 

31. How many square tiles, each of 4 decimetre of length, 
will be required to cover the floor of a room 8 m long 

and 6 m broad? 
8 ehVj yEcs vkSj 6 ehVj pkSM+s ,d dejs ds Q'kZ dks <dus ds 

fy, 4 MslhehVj yEckbZ okyh dqy fdruh Vkbyksa dh 

vko';drk gksxh\ 

(A) 200 (B) 260 (C) 280 (D) 300 

32. The sides of a triangle are 9 cm, 40 cm and 41 cm. The 
distance between its orthocenter and circumcentre is 

 ,d f=Hkqt dh Hkqtk,a 9 lseh-] 40 lseh- rFkk 41 lseh gSA blds 

yEcdsUnz rFkk ifjdsUnz ds chp dh nwjh gS% 

 (A) 29 cm/lseh-  (B) 20.5 cm/lseh-  

 (C) 29  cm/   (D) 15 cm/lseh 

33. If 
1 1

x a , y a ,
a a

      then value of 

4 4 2 2x y 2x y    is  

 (a) 16  (b) 20  
 (c) 10  (d) 5  

34. If be a positive acute angle satisfying cos 2
+ 

cos 4
= 1, then the value of tan 2

+ tan 4
is 

;fn ,d /kukRed U;wu dks.k gS tks cos 2
+ cos 4

= 1 

dks lUrq"V djrk gks] rks tan 2
+ tan 4

dk eku gS& 

(A)3/2    (B) 1  

(C)1/2    (D) 0 
35. In the figure given below AB is parallel to CD. If DCE 

= x and ABE = y, then CEB is equal to: 

 uhps fn;s x;s fp=k esa AB, CD ds lekukarj gSA ;fn DCE = 

x rFkk ABE = y gks] rks CEB cjkcj gksxk% 

 

 (a)y-x  (b) (x+y)/2  

 (c) x y
2

 
   

 
   (d) x+y-   

36. If sin– cos= 7/13 and 0 < < 90° then the numeric 

value of sin+ cosis equal to : 

 (a) 17/13  (b) 13/17  

 (c) 1/13  (d) 1/17  

37. In triangle ABC, A = 60°, B = 100° and AB = 10 

cm. Find AC. 

 f=Hkqt ABC esa] A = 60°, B = 100° rFkk AB = 10 lseh- gSA 

AC Kkr djsaA 

 (a) 10 sin100º/sin60º  (b) 10sin60º/sin 100º  

 (c) 10 sin100º/sin20º  (d) 10 sn45º /sin20º 

38. A butler stole wine from a butt of sherry which 
contained 40% spirit and he replaced, what he had 

stolen by wine containing only 16% spirit. The butt was 
then of 24% strength only. How much of the butt did 

he steal? 
 ,d cVyj ,d 'kjkc ds crZu ls 40% fLifjV okys ,Ydksgy 

dh dqN ek=kk dks pqjkdj 16% fLifjV okys ,Ydksgy ls 

foLFkkfir djrk gSA rc crZu esa ,Ydksgy dh ek=k dsoy 24% 

FkkA O;fDr us crZu ls fdruh 'kjkc pqjk;h Fkh\ 

 (A)1/3  (B)4/3 

 (C)2/3  (D)3/4 
39.  If the area of circular ring having inner and outer 

radius 8cm and 12cm respectively is equal to the total 
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surface area of cylinder of radius 1R  and height h, then 

h in terms of 1R   will be : 

 ;fn fdlh òRrkdkj NYys dh vkUrfjd o ckgjh f=T;k 8 lseh 

rFkk 12 lseh gS dk {ks=Qy h lseh m¡pkbZ o 1R  f=T;k okys 

fdlh csyu ds dqy i`’Bh; {ks=Qy ds cjkcj gSS rks csyu dh 

m¡pkbZ crk,a 

 (a) 1

1

40 R

R


   (b) 1

2
1

40 R

R


   

 (c) 
2
140 R

R


   (d) None of these  

40.  A tap can fill the cistern in 8 hours and another can 
empty it in 16 hours. If both the taps are opened 

simultaneously, the time required (in hours) to fill the 
tank is 

 ,d uy ,d gkSt dks 8 ?kaVs esa Hkj ldrk gSA nwljk uy bls 

16 ?kaVs esa [kkyh dj ldrk gSA nksuksa uykas dks ,d lkFk [kksyus 

ij gkSt fdrus le; esa Hkjsxk ? 

 (A) 16 hrs  (B) 8 hrs  
 (C) 10 hrs  (D) 12 hrs 

41.  If y 17 7 7 7...... (343) ,   then y is equal to: 

 ;fn 
y 17 7 7 7...... (343) , fuEu esa ls y  fdlds 

cjkcj gS ? 

 (A) 2/3  (B) 1  

 (C) 4/3  (D) 3/4 

42.  If 
1 1 1

a
2 3 3 8 4 15

  
  

 then  :  

 ;fn 
1 1 1

a
2 3 3 8 4 15

  
  

gks] rks : 

 (a) 0   (b) 2 3   

 (c) cannot be determined  (d) None of these  

43.  In the given ifgure AB||CD, ABE = 100°,BED = 

25°. Find CDE 
 fn, x, fp= esa] AB||CD,  ABE = 100°,  BED =25°. rks CDE 

dk eku gS : 

 
 (A) 125°  (B) 55°  

 (C) 65°  (D) 75° 
44.  R and r are the radii of two circles (R>r). If the 

distance between the centre of the two circles be d, 
then length of common tangent of two circles is: 

 nks o`rksa dh f=T;k,a R rFkk r gSa tgk¡ (R>r). ;fn nksuksa o`Rrksa ds 

dsnaz ds chp dh nwjh d gS rks nksuksa oR̀rksa dh mHk;fu"B Li'kZ js[kk 

dh yackbZ Kkr dhft, % 

 (a) 2 2r d   (b) 2 2d (R r)   

  (c) 2 2(R r) d     (d) 2 2R d   

45.  A man can row 5 km/hr in still water. If the speed of 
the stream is 1.5 km/hr, he takes one hour when he 

travels upstream to a place and back again to the 

starting point. How far is the place from the starting 
point ? 

 ,d O;fDr 'kkar ty eas 5 fdeh-@?kaVk dh xfr ls ukSdk pyk 

ldrk gS tc ;gh O;fDr ,d unh esa tks 1.5 fdeh-@?kaVk dh 

rsth ls cgrh gS] ukSdk pykrk gS] rks mls ,d LFkku rd tkdj 

okil vkus esa ,d ?kaVk le; yxrk gSA crk, fd ;g LFkku 

vkjEHk fcUnw ls fdrus fdeh- nwj gS ? 

 (a)2.5 km  (b) 6.5 km  

 (c) 3.5 km  (d) 2.275 km 
46.  The length of the portion of the straight line 8x + 15y 

= 120 intercepted between the axes is : 
 ljy js[kk 8x + 15y = 120 ds v{kksa ds chp dVs gq, Hkkx dh 

yackbZ Kkr dhft, : 

 (a) 14 units  (b) 15 units  

 (c) 16 units  (d) 17 units 

Directions (47-49): The bar graph given below shows the 
foreign exchange reserves of a country (in million US $) 

from 2001-02 to 2008-09. Answer the questions based on 
this graph. 

funsZ'k (47-49): uhps fn;s x;s ckj&xzkQ esa 2001-02 ls 2008-09 esa 
fons'kh eqnzk HkaMkj ¼fefy;u ;w,l $ es fn[kk;k x;k gSA bls vkys[k 

ds vk/kkj ij iz'uksa ds mÙkj nsaA 

 

47. The foreign exchange reserves in 2007-08 was how 
many times that in 2004-05? 

 2007-08 esa fons'kh eqnzk HkaMkj 2004-05 ls fdruk xq.kk Fkk\ 

 (A) 0.7  (B) 1.2  
 (C) 1.4  (D) 1.5 

48. For which year, the percent increase of foreign 

exchange reserves over the previous-year, is the 
highest? 

 fdl o"kZ esa] fons'kh eqnzk HkaMkj fiNys o"kZ dh rqyuk esa fdl o"kZ 

esa izfr'kr òf) lcls T;knk gqvk gS\  

 (A) 2002-03  (B) 2003-04  
 (C) 2004-05  (D) 2006-07 

49. The foreign exchange reserves in 2006-07 were 
approximately what percent of the average foreign 

exchange reserves given over the period under review? 
 2006-07 esa fons'kh eqnzk HkaMkj fn;s x;s dh vof/k dk yxHkx 

fdruk izfr'kr gS\ 

 (A) 95%  (B) 110%   

 (C) 115%  (D) 125% 

50. The mean of 9 observations is 16. One more 
observation is included and the new mean becomes 17. 

The 10th observation is: 
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 9 la[;kvksa dk ekè; 16 gSA ,d vkSj la[;k dks 'kkfey djus 

ij u;k ekè; 17 gks tkrk gSA 10oha la[;k gS& 

 (A) 9  (B) 16   

 (C) 26  (D) 30 

Part-III. 
GENERAL AWARENESS 

¼LkkekU; tkudkjh½ 

51. Cotopaxi a beautiful snow covered volcano is located in 

which of the following country? 

 dkVskisDSlh tks cQZ ls <dh ,d leqnqj Tokykeq[kh g]S 

fuEufyf[kr esa ls fdl ns'k esa fLFkr gS\ 

 (A) Cuba/D;wck 

 (B) USA/la;qDr jkT; vesjhdk 

 (C) Chile/fpyh 

 (D) Ecuador/bDokMkjs 

 52. Lower Subansiri Hydro Power Project is under 
development in which state? 

 ykvs j lcq kufljh iufctyh fo|rq ifj;kstuk dk fodkl 

fdl jkT; ds v/hu fd;k tk jgk gS\ 

 (A) Nagaland/ukxkySaM (B) Manipur/ef.kiqj 

 (C) Assam/vle (D) Sikkim/flfDde 

 53. Which one of the following chemicals is a 
neurotransmitter substance? 

 fuEufyf[kr esa dkSu&lk jklk;fud nzO; U;wjksVªkalehVj inkFkZ gS 

 (A) Adrenaline/,sfMªufyu (B) Cortisone/dkWfVZlksu 

 (C) Strychnine/fLVªDuhu (D) Insulin/bUlqfyu 

 54. India's Youngest National Table Tennis Champion is 

_____. 

 Hkkjr dh@ds lcls ;qok jk’Vªh; Vscy Vsful pSfEi;u ____ gS 

 (A) A. Amalraj/,- veyjkt 

(B) Sanil Shetty/lkfuy 'ksV~Vh 

 (C) Indu puri/banq iqjh 

 (D) Somyajeet Ghosh/lkSE;thr ?kks"k 

55. Which of the following state share longest border with 

Bangladesh? 
 fuEufyf[kr esa ls dkSu&lk jkT; ckaXykns'k ds lkFk lcls yEch 

lhek cukrk gS\ 

 (A) Meghalaya/es?kky;  (B) Assam/vle 

 (C) West Bengal/if'pe caxky (D) Mizoram/fetksje 

 56. ECOMARK is a symbol related to: 
 ECOMARK fpUg lacaf/kr gS& 

 (A) Exported goods       (B) Imported goods 

 (C) Goods safe for environment (D) Best quality 
 57. On which date the Universal Declaration of Human Right 

(UDHR) was adopted by the United Nations General 
Assembly? 

 ekuokf/kdkjksa dh lkoZHkkSe ?kks"k.kk ¼;wMh,pvkj½ dks la;qDr jk"Vª 

egklHkk }kjk fdl frfFk dks viuk;k x;k Fkk\ 

 (A) 1 December 1948/1 fnlEcj 1948 

 (B) 10 December 1948/10 fnlEcj 1948 

 (C) 1 December 1956/1 fnlEcj 1956 

 (D) 10 December 1956/10 fnlEcj 1956 

 58. 'Hyderabad Pledge' is related to: 

 ^gSnjkckn ladYi* fdlls lacaf/r gS\ 

 (A) Telangana State/rsyaxkuk jkT; 

 (B) Culture of Hyderabad/gSnjkckn dh laLd`fr 

 (C) Poverty Alleviation/xjhch mUewyu 

 (D) Biodiversity/tSo fofo/rk 

 59. India's first Sunken museum will be set up in which of the 

following cities? 
 fuEufyf[kr esa ls fdl 'kgj esa Hkkjr dk igyk Hkwfexr 

laxzgky; LFkkfir fd;k tk,xk\ 

 (A) Hyderabad/gSnjkckn (B) Itanagar/bZVkuxj 

 (C) New Delhi/ubZ fnYyh (D) Guwahati/xqokgkVh 

 60. Which instrument is used in submarine to see the object 

above sea level? 
 leqnz dh lrg ls Åij dh oLrqvksa dks ns[kus ds fy, iuMCqch 

esa fdl midj.k dk iz;ksx fd;k tkrk gS\ 

 (A) Pyrometer/ikbjksehVj (B) Polygraph/ikWyhxzkiQ 

 (C) Photometer/iQksVksehVj (D) Periscope/isfjLdksi 

 61. First state in India to pass the Food Security Act is  
 [kk| lqj{kk dkuuw ikfjr djus okyk Hkkjr dk igyk jkT; gS 

 (A) Andhra Pradesh/vka/zk izns'k 

 (B) Chhattisgarh/NÙkhlx<+ 

 (C) Odisha/mMh+ lk 

 (D) Bihar/fcgkj 

 62. Duttee Chand, who recently qualified for 2016 Rio 
Olympics, is associated with which sports? 

 gky gh esa nwrh pan us fj;ks vksyafid 2016 ds fy, DokyhQkbZ 

fd;k gS] og fdl [ksy ds lkFk tqM+h gqbZ gS\  

 (A) Archery/rhjankth (B) Boxing/eqDdsckth 

 (C) Wrestling/dq'rh (D) Sprint/fLizUV 

63. The number of Indian Citizens who won the Nobel Prize 
for Literature isfdrus Hkkjrh; ukxfjdksa us lkfgR; ds fy, 

ukscy iqjLdkj thrk gS\ 

 (A) One  (B) Two 

 (C) Three  (D) Four 
64. National Energy Conservation Day is observed on ____ ? 

 jk"Vªh; ÅtkZ laj{k.k fnol ____ dks euk;k tkrk gS\ 

 (A) 2nd December/2 fnlacj 

 (B) 6th December/6 fnlacj 

 (C) 14th December/14 fnlacj 

 (D) 12th December/12 fnlacj 

 65. Under the "Mahatma Gandhi Gramin Basti Yojana", 

Haryana government provide plots of which size to the 
eligible families? 

 egkRek xka/kh cLrh ;kstuk ds rgr gfj;k.kk ljdkj ;ksX; 

ifjokjksa dks fdl vkdkj ds IykWV vkoafVr djrh gS\ 

 (A) 50 yards 2  (B) 100 yards 2
 

 (C) 150 yards 2  (D) 200 yards 2
 

66. Who among the following was the contemporary of 
Chengiz Khan? 

 fuEufyf[kr esa ls dkSu paxst [kku ds ledkyhu Fkk\ 

 (A) Iltutamish/bYrqrfe'k 

 (B) Mirza Muhammad Haider Dughlat Beg/fetkZ eqgEen 

gSnj nqXgYr c+sx 

 (C) Jalaluddin Surkh-Posh Bukhari/ tykyqíhu lq[kZ&ikW'k 

cq[kkjh 

 (D) None of these/buesa ls dksbZ ugha 

67. Which of the following polymers is used to make Bullet 

proof windows? 
 fuEufyf[kr esa ls dkSu&lk cgqyd cqysV iwzQ f[kM+dh cukus esa 

mi;ksx fd;k tkrk gS\ 
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 (A) Polycarbonate/iksfydkcksZusV(B) Polyurethane/ikWfy;wfjFksu 

 (C) Polystyrene/ikWfyLVkbjhu (D) Polyamide/ikWfy,ekbM 

 68. What is Hooke's Law? gqd dk fu;e D;k gS\ 

 (A)  Stress is inversely proportional to strain/cy ruko ds 

izfrikuqikrh gSA 

 (B) Stress is directly proportional to strain/cy ruko ds 

izR;{k vuqikrh gSA 

 (C) Stress and strain are dependent on each other/cy vkSj 

ruko ,d&nwljs ij fuHkZj djrs gSA 

 (D) Stress and strain are independent of each other/ cy 

vkSj ruko ,d&nwljs ls Lora= 

gSA5108888,09555208888  

69. Which of the following Mughal rulers banned the 
engraving of 'Kalma' on coins? 

 fuEufyf[kr esa ls fdl eqxy 'kkld us flDdksa ij ^dyek* dh 

uDdk'kh dks izfrcaf/kr fd;k\ 

 (A) Jahangir/tgkaxhj 

 (B) Aurangzeb/vkSjaxtsc 

(C) Shahjahan/'kkgtgka 

 (D) Muhammad Shah/eqgEen 'kkg 

 70. Which of the following pairs is not correct matched? 

 fuEufyf[kr ;qXeksa esa ls dkSu&lk lqesfyr ugh gS\ 

 (A) Shakya - Kapilvastu/'kkD; & dfiyoLrq 

 (B) Koliya - Ramagrama/dksfy;k & jkekxzkek 

 (C) Kalamas - Allakappa/dkykekl & vydkIik 

 (D) Mallas - Kushinagar/eYyk & dq'khuxj 

71. Where does the cabbage store food :  

 (a) Root (b) Leaves (c) Stem (d) Fruit  
72. The regulatory authority for mutual funds and stock 

markets lies with the- 

 E;wpqvy QaM vkSj 'ks;j cktkjksa dk fu;=ad izkf/kdj.k gS& 

 (A)  Government of India/Hkkjr ljdkj  

 (B) Indian Institutes of Management/Hkkjrh; izca/ku laLFkku 

 (C) SEBI/lsch 

 (D) Stock Exchange/LVkWd ,Dlpsat 

73. Identify the Navratna company in the following: 

 fuEufyf[kr esa ls uojRu daiuh dkSu&lh gS\ 

 (A) ICICI Bank/ICICI cSad 

 (B) Infosys/bUQksfll 

 (C) Air India/,;j bafM;k 

 (D) Oil India Limited/vkW;y bafM;k fyfeVsM 

74. Which is the organ that excretes water, fat and various 

catabolic wastes? 
 ty] olk vkSj fofHkUu mip;h vif'k"Vksa dk mRltZu fdl vax 

}kjk fd;k tkrk gS\ 

 (A) Spleen/Iyhgk (B) Kidney/o`Dd 

 (C) Salivary glands/ykj&xzafFk (D) Skin/Ropk 

 75. Which of the following sets belong to Central Tax? 
 fuEufyf[kr esa ls dkSu&lk leqPp; dsUnzh; dj ls lacaf/kr gS 

(A) excise duty, sales tax and customs duty/mRikn 'kqYd] 

fcØh dj rFkk lhek 'kqYd 

(B) excise duty, customs duty and income tax/mRikn 'kqYd] 

lhek 'kqYd rFkk vk; dj 

(C) income tax, customs duty and house tax/vk; dj] 

lhek 'kqYd rFkk xg̀ dj 

(D) customs duty, entertainment tax and income tax/lhek 

'kqYd] euksjatu dj rFkk vk; dj 

Part-III. 
GENERAL AWARENESS 

¼vaxzsth Hkk’kk½ 

Direction: In Question nos. 76-78 some part of the sentences have 

errors and some are correct. Find out which part of a sentence has an 

error and blacken the oval [ ]  corresponding to the appropriate letter 

(A), (B), (C). If a sentence is free from error, blacken the oval 

corresponding to (D) in the Answer Sheet. 

76. Get this book (A)/ be published (B)/ in time. (C)/ No 

error (D). 
77. He works hardly (A)/ to make (B)/ both ends meet. (C)/ 

No error (D) 
78. The old man went to the barn (A)/ to milk the cow (B)/ 

with a cane. (C)/ No error (D) 

Directions : In Question nos. 79-80, sentences given with blanks to be 

filled in with an appropriate word(s). Four alternatives are suggested 

for each question. Choose the correct alternative out of the four and 

indicate it by blackening the appropriate oval [ ]  in the Answer Sheet. 

79. Have you got any idea as to what has happened to 

Akansha? I haven't seen her ......... 
 (A) lately  (B) later on  

 (C) late  (D) later 
80. The King was anxious ........ the safety of their soldiers. 

 (A) at  (B) upon  
 (C) for  (D) about 

Directions:In question nos. 81 out of the four alternatives, 

choose the one which best expresses the meaning of the 

given word.  

81. CONSIDERATE 
 (A) Agreeable  (B) Kind  

 (C) Like-minded  (D) Thoughtful 

Directions : In question nos. 82, choose the word opposite in 

meaning to the given word. 

82. VENERATION 
 (A) Fear  (B) Reverence  

 (C) Remorse  (D) Disrespect 

Directions : In question nos 83 four words are given in each 

question, out of which only one word is spelt correctly. Find the 

word spelt correct and mark your answer in the Answer Sheet. 

83. (A) Coreigible  (B) Coraegible  

 (C) Correigible  (D) Corrigible 

Direction: 84-86, four alternative are given for the underlined Idiom/ 

Phrase. Choose the alternative which best expresses the meaning of 

the Idiom/Phrase and mark it in the Answer Sheet. 

84.  How can I believe what you say about him? It was he 

who put a spoke in my wheel. 
 (A) helped me to repair my wheel 

 (B) helped me with additional equipment 
 (C) prevented me in the execution of my plan 

 (D) obstructed me from making progress 

85.  Carry the can 

 (A) Accept the blame (B) Get into trouble 

 (C) Face the repercussions (D) Share the responsibility 

86.  Take time by the forelock 

 (A) Forecast on event  (B) Forecast time 
 (C) Talk one's own time  

 (D) Prepare for action before time 
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Direction: In Question nos. 87-92, a sentence/ a part of the sentence 

is underlined. Below are given alternatives to the underlined part at 

(A), (B), (C) which may improve the sentence. Choose the correct 

alternative. In case no improvement is needed your answer is (D). 

Mark your answer in the Answer Sheet. 

87. To alleviate the pain of losing his only son, he took up 

meditation. 

 (A) lessen  (B) minimalise   

 (C) lesson  (D) No improvement 

88. The less I see him the much I like him. 

 (A) the further  (B) the more 
 (C) the grater  (D) No improvement 

89.  The police needed him for armed robbery. 

 (A) liked  (B) was after  

 (C) were looking for  (D) No improvement 
90.  He has received no other message than an urgent 

telegram asking him to rush his village immediately. 

 (A) asked him to rush his village 
 (B) asking him to have rush his village 

 (C) asking him to rush to his village 
 (D) No correction required 

91. We demonstrated to them how we were prepared the 

artistic patterns. 

 (A) had prepared (B) have prepared 

 (C) are preparing (D) No correction required 

92. The people generally try to curry favour with the corrupt 

but influential person. 
 (A) cook favour (B) seek favour 

 (C) extract favour (D) No correction required 

Direction : In Question nos. 93-95, in the following question, out of 

the four alternatives, choose the one which can be substituted for the 

given sentence. 

93.  The act or practice of spying 

 (A) Strategy  (B) Espionage  
 (C) Diplomacy  (D) Enumeration 

94.  A person who readily changes his party or principles 
 (A) Scapegoat  (B) Turncoat  

 (C) Mercenary  (D) Immigrant 
95.  One who does not follow the usual rules of social life 

 (A) Bohemian  (B) Artisan  
 (C) Partisan  (D) Physician 

Directions (96-100): In the following questions, you have brief 

passages with 5 questions following each passage. Read the 

passages carefully and choose the best answer to each question out 

of the four alternatives and. 

Passage- I 

If this is so, if to read a book as it should be read calls for 
the rarest qualities of imagination, insight and judgement. 

You may perhaps conclude that literature is a very complex 

art and that it is unlikely that we shall be able, even after a 
life time of reading, to make any valuable contribution to 

its criticism. We must remain readers, we shall not put on 
the further glory that belongs to those rare beings who are 

also critics. 

96. What is the opinion of most of the people about 
literature? 

 (a) That it is not an easy one to contribute anything. 
 (b) That it is to some extent difficult to understand. 

 (c) That no contribution is necessary for literature. 
 (d) That it is very easy to understand 

97. The antonym of conclude is 
 (a) Commence  (b) Exclude  

 (c) End  (d) Include 
98. According to the author 

 (a) It is not possible for most of us to contribute 

anything for criticism  
 (b)  It is possible to do something 

 (c)  It is not even easy to under stand literature 
 (d) Most of the people can contribute to criticism of 

literature 
99. The author feels that we cannot have the greatness of 

 (a) Writers  (b) Critics   

 (c) Publishers  (d) Readers 
100. What are the qualities required for reading a book? 

 (a) Proper judgement  
 (b) Imagination 

 (c) Imagination, insight and judgement 

 (d) None of the above 
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